1. Complete the sums first
2. Move onto the word problems after completing the sums and
building confidence. Read the questions very carefully!

A

Copy and complete.

Copy and complete.

C

Set out as in the example.
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m There is 5-67 litres

@ In one year London had
2872 inches of rainfall

of water in a bucket. and Glasgow had
0-575 litres of bleach 16-489 inches more.
is added. How much - What was Glasgow’s
liquid is in the bucket? rainfall?

@ Dwayne runs 400 m in
45-74 seconds.

@ A safe weighs
192-88kg. The gold
inside it weighs
268-45kg. What is the
ombined weight of the
safe and the gold?



